Describe 1n words how you
have to walk to make

the sonic ranger produce

the following velocity graph.
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In your notebook, sketch
the acceleration graph
corresponding to

this velocity graph.
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In your notebook,

sketch the position graph
corresponding to

this velocity graph.
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How does your position graph distinguish
THIS motion from the previous one
(with the squared off velocity graph)?
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The average velocity “eet
for the time interval 0-10 1s:  **
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. You can’t tell from the
information given. .
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Example g
m The average acceleration for the time interval
0-10 1s:
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Physics 131 13



